SINDHI HIGH SCHOOL.HEBBAL
FORMATIVE ASSESSMENT -1I (2015-16)
SUBJECT:- MATHEMATICS
Class VI Marks:- 30

1. Write any four 3-digit numbers using 2,3,5 taking each digit only once
(2x3=6)

2. Put the appropriate symbol (< or >) in each of the following boxes.
(a) 102394 99887 (b) 47983505 47894012.

3. (a)Write down the predecessor of 10,00,000.
(b)Give the successor of 10,00,909.

4. Fill in the blanks to make each of the following a true statement. (3x4=12)

(a) 795x0=
(b) x 10 x100 = 10,000
(c) x 8975 = 8975 x 1243.

5. Using Distributive property of multiplication over addition/subtraction of
whole numbers, find each of the following products:
(a) 736 x 103 (b) 258 x 99

6. A vessel has 4650 ml of curd . In how many glasses , each of 25 ml
capacity can be filled?

7(a)Estimate the product 58 x 87 by rounding off each factor to its greatest
place.

(b)Find the estimated quotient 2838 divided by 125 rounding off the dividend
and divisor to the nearest hundreds.

8.(a) Write 759 in Roman numerals. (4x3=12)
(b) Write C D X L VI in Hindu Arabic numerals.

(c) Arrange the following numbers in Ascending order:
1808090; 1808088; 181888 ; 190909; 16060666.

9. (a)Write all factors of the following numbers:
(i) 97 (i) 24
(b) Find all the multiples of 15 upto 100.

10. (a) How many milliliters make 1 litre.

(b) Convert 1 Kilometre into Metre.

(c) Fill in the blank : 1 Million = --------- Lakh
(d) Find 4+ 3 using number line .
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Section A
I. Read the passage carefully
Singapore’s waters are filled with all types of fascinating fish. One particular
species that can be found here is the swordfish. In fact, there are folk-tales
which tell of swordfish helping people in days gone by.
Sword fish are fascinating examples of marine life. They generally live in
warm, tropical waters. On a calm, windless day, their backs and tail fins can
be seen up to six hundred and ten metres under the sea.
The sword is fat with no scales. Its muscular body ensures that it can travel
at high speeds of up to ninety seven kilometers an hour. You can recognize it
by its long, flattened, sword-like jaw. Swordfish are usually brownish-black
in color with a lighter-brown underside. They have dark eyes and crescent
shaped fins and weigh between sixty eight and hundred and thirtysix
kilograms. They are approximately 1.5 to 2.4 metres in length and their
“sword” or bill alone can sometimes measure upto one third of their body
length. Strangely, the swordfish does not have any teeth and must swallow
whatever food it catches whole.
A school of swordfish slicing through the water is truly a magnificent sight.

[

Answer these questions :

1. When do you get to see a swordfish’s back and tail fins?

2. Why would other bigger fish find it difficult to catch a sword fish?

3. What is unusual about the way a swordfish eats its food?

4. Find the word in the passage which means the same as
(a)charming (b)of the sea

[II. Read the extract from a poem titled “The Arrow And The Song” :

I shot an arrow into the air,

It fell to the Earth, I knew not where;
For so swiftly it flew, the sight

Could not follow it in its flight.

I breathed a song into the air,

It fell to Earth, I knew not where;

For who has sight so keen and strong,
That it can follow the flight of song?

Long ,long afterward, in an oak
I found the arrow, still unbroke;



And the song, from beginning to end,
I found again in the heart of a friend.
H.W.Longfellow
I Choose the correct option to answer the questions :
1. Why does the poet not know where the arrow fell?
(a) Because it flew very swiftly
(b) Because it was an invisible arrow
(c) Because it fell behind a mountain
(d) Because the poet did not care to find
2.”] breathed a song into the air” . What does the word “breathed” mean?
(a) took a breath (b) said something (c) sang (d) threw

3. What, according to the poet ,is needed to follow the flight of a song?
(a) a music recorder (b) a friend
(c) keen and strong sight (d) an arrow

4. Where was the arrow found?
(a) in the heart of a friend (b)in a faraway land
(c) in an oak tree (d) never found

II Answer in your own words

1. Where and in what condition did the poet find the ‘arrow ‘and the ‘song’?
Section B

1. Write a letter to your friend telling him/her about how you spent your

summer vacation.

2. Write a paragraph on the importance of reading.
Section C

I. Fill in the blanks with suitable words:

1. Susan and Mark will arrive the station tonight.

2. Naveen is accused breaking into the neighbour’s house.

3. Kangaroo is found Australia.

4. Do not speak ill of a person his back.

II. Rearrange the following words and make meaningful sentences:
1. good to look at/colours make/our world /beautiful and.
2. also important/they are/people and material/in identifying/and useful.

III. There is an error in each line in the following passage. Change the
underline word as required.

An egg is pack with protein-the building block of

Life.Egg protein contain all the essential

amino-acids one needs. Grown children need protein

to build our bodies and adults need it to repair

damaged or worn-out tissue



I. Read the extracts given below and answer the questions that follow:

Section D

1.“He has better business to do than catch flower thieves”, replied the

youngest
one.....
(a) Who does ‘He’refer to?
(b) Why did the speaker say so ?
(c) To whom were these words spoken to?
2. “I said to do the back ones first!”
(a) Who said this to whom?
(b) What does ‘the back ones’ refer to?
III. Answer the following:
1. Why did the lady call the doctor a ‘twit™?

2.
3.
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1.
2.
3.

Why did the family buy a puppy?
Mother was very annoyed with Attila. Why?

SINDHI HIGH SCHOOL.HEBBAL
FORMATIVE ASSESSMENT -1I (2015-16)
SUBJECT:- GENERAL SCIENCE

SECTION A (PHYSICS)

. Define Hypothesis.

. Who discovered Radium? Who invented electric bulb?
. Diagrammatically represent the branches of science.

. Mention the steps involved in scientific method .

. Write any two uses and two misuses of science.

SECTION - B (CHEMISTRY)
What is dissolution?
Powdering of wheat flour is a physical change. Justify.
Explain the changes observed during melting of wax and burning of a

candle.

4.

5.

Mention the substances formed as a result of this change.

With the help of a neat diagram show the three changes that water
undergoes.

Differentiate between slow and fast change. Write suitable examples.

Marks:-

(1)
(1)
(2)
(3)
(3)

(1)
(1)

(2)

(3)
(3)



SECTION - C (BIOLOGY)

1. A woodpecker has a long pointed beak. Give reason. (1)
2. Write the average life span of dog and Sequoia trees. (1)
3. Differentiate between growth taking place in plants and animals. (2)
4. Name the following: (3)

(a) Openings on leaves through which plants breathe -

(b) Process by which wastes are thrown out of the body -

(c) The study of living things —

(d) Process by which new cells are formed from cells of a single parent
(e) Breathing organs of insects —

(f) Condition in which living organisms learn to adjust, survive and reproduce

5 Explain the process of photosynthesis with the help of suitable diagram. (3)
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SINDHI HIGH SCHOOL ., HEBBAL
FORMATIVE ASSESSMENT -1I (2015-16)
SUBJECT:- SOCIAL SCIENCE

(S)

Class VI Marks:-
30
I. Explain the terms:
(1x5=5)
(a) Manuscript (b) Microliths (c) Stereotype
(d) Earth’s grid (e) IST

II. Answer the following:
(2x4=8)
1. Explain the two techniques of tool making.

2. Name these latitudes that lie to the North and South of the equator:

(i) 90° N (ii) 23%° S (iii) 6670 N (iv) 23%0 N
3. Define Prejudice. Write the adverse effect of prejudice.
4. What is bonded labour?
5. Write a note on the “sources of history”
(3x4=12)



6. It was not possible for man to survive, if he did not live in a group. Justify
the statement

7. How are the heat zones created? Explain the features of Torrid Zone.

8. Differentiate between latitudes and longitudes.

9. a. Explain untouchability.

(1x5=5)

b. List the constitutional provisions that promote equality and abolish
untouchability.



